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TNPSC Group 2 Model Question Paper 5 

General Studies 
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2. An allotrope of carbon discovered by Richard Smalley et al. 

 (A) Graphite  (B) Diamond  (C) Fullerene  (D) Carbon black 

 Ans - (C) Fullerene 

 Hpr;rh;l;];> ];khyp mwptpayhh;fs; fz;lwpe;j fhh;gdpd; GwNtw;Wik tbtk; 

(A) fpuhigl;     (B) ilkz;L 

(C) Gy;yhPd;     (D) fUg;G fhh;gd; 

 Ans - (C) Gy;yhPd; 

3. Which of the following is not a green house gas? 

 (A) Water vapour  (B) O2  (C) O3  (D) CO2 

 Ans - (B) O2  

 gpd;tUtdtw;Ws; gRik,y;y thA my;yhjJ vJ? 

(A) ePuhtp  (B) O2  (C) O3  (D) CO2 

 Ans - (B) O2  

4. Name the network structure gives shape, strength and help in cell movement 

 (A) Lysosomes     (B) Golgi Bodies 

 (C) Endoplasmic reticulum   (D) Cytoskeleton 

 Ans - (D) Cytoskeleton 

nry;Yf;F cWjp> tY kw;Wk; nry; nghUs;fs; efh;jy; Mfpa gzpfis nra;Ak; xU Guj 
,iofshy; Md ,jd; ngah; vd;d? 

 (A) iyN]hNrhk;fs;    (B) Nfhy;fp cWg;Gfs; 

 (C) vz;Nlhgpshr tiyfs;   (D) irl;Nlhgpshr vYk;Gf;$L 

 Ans - (D) irl;Nlhgpshr vYk;Gf;$L 

5. Which among the following is exempted for consuming by a person in an optimum quantity?  
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 (A) Salt   (B) Sugar  (C) Fat   (D) Fibre 

 Ans - (D) Fibre 

 fPo;fz;ltw;Ws; vijj; jtpu kw;wit ek; cztpy; msNthL vLj;Jf;nfhs;s Ntz;Lk;? 

(A) cg;G rj;J  (B) rh;f;fiu  (C) nfhOg;G  (D) ehh;rj;J 

Ans - (D) ehh;rj;J 

6. Turner syndrome is depicted by 

 (A) XY  (B) XXY  (C) XYY  (D) XO 

 Ans - (D) XO 

lh;dhpd; rpz;Nuhk; ,t;thW Fwpf;fg;gLfpd;wJ. (m) lh;dhpd; xj;jpirj;jpUf;Fk; Neha;Fwp ,t;thW 
Fwpf;fg;gLfpd;wJ. 

(A) XY  (B) XXY  (C) XYY  (D) XO 

 Ans - (D) XO 

7. Spermatogenesis is 

 (A) Maturation of spermatogonia  (B) Maturation of oogonia   

 (C) Maturation of epididymis   (D) Maturation of seminiferous tubule 

 Ans - (A) Maturation of spermatogonia 

];ngh;kNlhn[dp]p]; vd;gJ 

 (A) ];ngh;kNlhNfhdpah Kjph;r;rpailjy; (B) CNfhdpah Kjph;r;rpailjy; 

 (C) vgpbbk]; Kjph;r;rpailjy;  (D) nrkpdpngu]; Foha; Kjph;r;rpailjy; 

 Ans - (A) ];ngh;kNlhNfhdpah Kjph;r;rpailjy; 

8. Where was the 102
nd

 Indian Science congress was held? 

 (A) Mumbai  (B) New Delhi  (C) Ahmedabad  (D) Bengaluru 

 Ans - (A) Mumbai  

 102tJ ,e;jpa mwptpay; khehL vq;F eilngw;wJ? 

(A) Kk;ig  (B) GJ nly;yp  (C) mfkjhghj;  (D) ngq;fSU 

Ans - (A) Kk;ig 

9. The Indian actor, who received France’s Chevalier award in 2016 is 

 (A) Rajini Kanth    (B) Sivaji Ganesn 

 (C) Amitabh Bachchan    (D) Kamal Haasan 

 Ans - (D) Kamal Haasan 

 rkPgj;jpy; (2016) gpuhd;]pd; nrthypNa tpUJ ngw;w ,e;jpa ebfh; ------- Mthh; 
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(A) u[pdp fhe;j    (B) rpth[p fNzrd; 

(C) mkpjhg; gl;rd;    (D) fky`hrd; 

 Ans - (D) fky`hrd; 

10. March 9, 2015-July 26, 2016 is a record journey time of one of the following. Identify its name. 

 (A) AG600     (B) Solar Impulse 2 

 (C) JUNO     (D) Sky Bender 

 Ans - (B) Solar Impulse 2 

gpd;tUtdtw;Ws; xd;wpdJ rhjidg; gazf;fhykhf 9> khh;r; 2015 Kjy; 26> [Piy 2016 
tiuapyhd fhyk; tpsq;FfpwJ. mjd; ngahpidf; fz;lwpa. 

 (A) AG600     (B) Nrhyhh; ,k;gs;]; 2 

 (C) JUNO     (D) ];if ngz;lh; 

 Ans - (B) Nrhyhh; ,k;gs;]; 2 

11. Who was appointed as the first Vice-Chairman of NITI Aayog? 

 (A) Ashok Gulati    (B) Arvind Panagariya 

 (C) Subramaniyam Swamy   (D) Y.V. Reddy 

 Ans - (B) Arvind Panagariya 

 NITI MNahf;fpd; Kjy; Jizj; jiytuhf epakpf;fg;gl;lth; ahh;? 

(A) MNrhf; Fyhjp     (B) mh;tpe;j ghdhfhpah 

(C) Rg;ukzpak; Rthkp     (D)Y.V. nul;b 

 Ans - (B) mh;tpe;j ghdhfhpah 

12. In Sep 2016, India has officially declared itself free from --------------- 

 (A) Dengue Fever     (B) Yaws   

(C) Avian Influenza     (D) Polio 

 Ans - (C) Avian Influenza 

nrg;lk;gh; 2016-y;> ,e;jpah ,jpypUe;J KOikahf tpLgl;Ltpl;ljhf jhdhfNt mjpfhug;g+h;tkhf 
mwptpj;Js;sJ. 

(A) nlq;F fha;r;ry;    (B) ah]; 

(C) Vtpad; ,d;g;Sad;]h   (D) NghypNah 

  Ans - (C) Vtpad; ,d;g;Sad;]h 

13. Identify the joint military exercise(s) of India among the following 

 I.  Druzhba – 2016 
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 II. Yudh – Abhyas – 2016 

 III. Indra – 2016 

(A) I and II only     (B) I only   

(C) I and III only     (D) II and III only 

 Ans - (D) II and III only 

 gpd;tUtdtw;Ws;> ,e;jpahtpdJ ,iz ,uhZt gapw;rp/gapw;rpfisf; fz;lwpf. 

 I.  Druzhba – 2016 (j;U\;gh – 2016) 

 II. Yudh – Abhyas – 2016 (Aj;-mg;ah]; - 2016) 

 III. Indra – 2016 (,e;jpuh – 2016) 

(A) I kw;Wk; II kl;Lk;     (B) I kl;Lk;   

(C) I kw;Wk; III kl;Lk;     (D) II kw;Wk; III kl;Lk; 

 Ans - (D) II kw;Wk; III kl;Lk; 

14.  ----------- is the most important amongest the Indian breeds of buffaloes 

 (A) Bhadawari   (B) Murrah  (C) Mehsara  (D) Surti 

 Ans - (B) Murrah 

 ,e;jpahtpNyNa ------------ vd;w vUik ,dk; jhd; mjpf mstpy; Kf;fpaj;Jtk; tha;e;jJ. 

(A) ghlhthhp  (B) Kh;uh  (C) nk\;uh  (D) Rl;hp 

Ans - (B) Kh;uh 

15. Chemically formed sedimentary Rocks are 

 (A) Limestone  (B) Clay  (C) Gypsum  (D) Basalt 

 Ans - (C) Gypsum 

 Ntjpapay; Kiwg;gb cUthd ghiw gbTfs; 

(A) Rz;zhk;Gf;fy;     (B) fsp kz; 

(C) [pg;rk;      (D) fUq;fy; 

 Ans - (C) [pg;rk; 

16. The average depth of the world oceans 

 (A) 3890 meters     (B) 3700 meters 

 (C) 3899 meters      (D) 6000 meters 

 Ans - (D) 6000 meters 

 cyfpy; cs;s Nguhopfspd; ruhrhp Mok; 

 (A) 3890 kPl;lh;fs;     (B) 3700 kPl;lh;fs; 
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 (C) 3899 kPl;lh;fs;     (D) 6000 kPl;lh;fs; 

 Ans - (D) 6000 kPl;lh;fs; 

17. The reign of Shah Jahan is regarded as the Golden Age of Mughals because of  

 (A) Economic prosperity  (B) Religious Toleration 

 (C) Construction of Taj Mahal  (D) Development of Mughal Art and Architecture 

 Ans - (D) Development of Mughal Art and Architecture 

 \h[`hdpd; Ml;rpf;fhyk; Kfyhah;fspd; nghw;fhykhf fUjg;gLfpwJ Vndd;why; 

(A) nghUshjhu nrOik  (B) rka rfpg;Gj; jd;ik 

(C) jh[;k`hy; fl;lg;gl;lJ  (D) Kfyha fiy> fl;blf; fiy Kd;Ndw;wk; 

 Ans - (D) Kfyha fiy> fl;blf; fiy Kd;Ndw;wk; 

18. Against whom did Shivaji launch his initial campaigns 

 (A) The ruler of Bejapur (B) The Mughal emperor 

 (C) The ruler of Ahmadnagar (D) The hereditary owner of forts and local officers of Bejapur 

 Ans - (D) The hereditary owner of forts and local officers of Bejapur 

 rpth[p jdJ Kjy; gilnaLg;Gfis ahh; kPJ Nkw;nfhz;lhh; 

(A) gp[g;G+H muR 

(B) nkhfyha Nguurh; 
(C) mfkj; efh; muR 

(D) gp[g;G+h; Ml;rpf;Fl;gl;l top top chpikahsh;fspd; Nfhl;ilfisAk; kw;Wk; ];jy 
muRfisAk; 

Ans - (D) gp[g;G+h; Ml;rpf;Fl;gl;l top top chpikahsh;fspd; Nfhl;ilfisAk; kw;Wk; ];jy 
muRfisAk; 

19. Where did the English set up their first factory of trading depot in India  

 (A) Bombay  (B) Madras  (C) Hughli  (D) Surat 

 Ans - (D) Surat 

 ,e;jpahtpy; Mq;fpNyah; vt;tplj;jpy; jq;fsJ Kjy; th;j;jf rhiyia epWtpdhh; 

(A) gk;gha;  (B) nrd;id   (C) P̀f;sp  (D) #uj; 

Ans - (D) #uj; 

20. Mother Therasa belonged to which country? 

 (A) England  (B) Germany  (C) Rumenia  (D) Yugoslavia 

 Ans - (D) Yugoslavia 

 md;id nju]h ve;j ehl;ilr; Nrh;e;jth;? 

(A) ,q;fpyhe;J      (B) n[h;kdp   
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(C) UNkdpah      (D) A+Nfh];Nytpah 

 Ans - (D) A+Nfh];Nytpah 

21. Who has described elections as the heart of democracy? 

 (A) James Bryce     (B) Joseph Schumpeter 

 (C) Abraham Lincoln     (D) Woodrow Wilson 

 Ans - (B) Joseph Schumpeter 

 kf;fshl;rpapd; ,jak; Nghd;wJ Njh;jy; vd $wpath; ahh;? 

(A) N[k;]; gpiu];     (B) N[hrg; ];fk;gPl;lh; 

(C) Mgpufhk; ypq;fd;     (D) cl;Nuh tpy;rd; 

 Ans - (B) N[hrg; ];fk;gPl;lh; 

22. Which one of the following statement is not correctly matched? 

 (A) Article 53 – deals with the Executive Authority of President 

 (B) Article 54 – deals with the Election of the President 

 (C) Article 55 – Deals with the qualification of the President 

 (D) Article 56 – deals with Term and Removal of the President 

 Ans - (C) Article 55 – Deals with the qualification of the President 

 gpd;tUtdtw;Ws; ve;j thf;fpak; jtwhf ,izf;fg;gl;Ls;sJ vJ? 

(A) tpjp-53 – [dhjpgjpapd; eph;thf mjpfhuk; gw;wp $WfpwJ. 
(B) tpjp-54 – [dhjpgjpapd; Njh;e;njLf;fg;gLk; Kiw gw;wpaJ 

(C) tpjp-55 – [dhjpgjpapd; jFjpfs; gw;wp $WfpwJ. 
(D) tpjp-56 – [dhjpgjpapd; gjtpf; fhyk; kw;Wk; gjtp tpyfy; gw;wpaJ. 
(E)  Ans - (C) tpjp-55 – [dhjpgjpapd; jFjpfs; gw;wp $WfpwJ. 

23. The Maritime Jurisdiction of our country was laid down in the 

 (A) 40
th
 Amendment    (B) 41

st
 Amendment 

 (C) 42
nd

 Amendment    (D) 43
rd
 Amendment 

 Ans - (A) 40
th
 Amendment 

 ekJ ehl;bd; fly;rhh;e;j mjpfhu tuk;gpid cUthf;fpaJ. 

 (A) 40-tJ murpayikg;G jpUj;jk;  (B) 41-tJ murpayikg;G jpUj;jk; 

 (C) 42-tJ murpayikg;G jpUj;jk;  (D) 43-tJ murpayikg;G jpUj;jk; 

 Ans - (A) 40-tJ murpayikg;G jpUj;jk; 

24. Justice Sachar Committee was appointed to make recommendations for the welfare of 

 (A) economically and educationally backward sections among the minorities 
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 (B) backward communities 

 (C) Women  

 (D) transgenders 

 Ans - (A) economically and educationally backward sections among the minorities 

 ePjpgjp rrhh; FO epWtg;gl;lJ. 

(A) rpWghd;ikapdhpy; r%f kw;Wk; fy;tp hPjpahf gpd;jq;fpAs;s kf;fSf;fhd eyd;fis ghpe;Jiu 
nra;a. 

(B) gpd;jq;fpa r%fj;jpdUf;fhd eyd;fis ghpe;Jiu nra;a 

(C) ngz;fspd; eyd;fSf;fhd ghpe;Jiufis Nkw;nfhs;s 

(D) %d;whk; ghypdj;jtUf;fhd eyd;fis ghpe;Jiu nra;a 

Ans - (A) rpWghd;ikapdhpy; r%f kw;Wk; fy;tp hPjpahf gpd;jq;fpAs;s kf;fSf;fhd eyd;fis 
ghpe;Jiu nra;a. 

25. Match the coalition governments in Column A with their Prime Ministers in Column B.  

  Column A    Column B 

(a) National Front   1. Deve Gowda 

(b) United Front   2. V.P. Singh 

(c) National Democratic Alliance 3. Dr.Manmohan Singh 

(d) United Progressive Alliance  4. A.B. Vajpayee 

(a) (b) (c) (d) 

 (A) 2 4 1 3 

 (B) 2 1 4 3 

 (C) 3 1 4 2 

 (D) 1 3 2 4 

 Ans - (B) 2 1 4 3 

gFjp m-tpy; cs;s $l;lzp murhq;fq;fSld; gFjp  M-tpy; cs;s gpujk ke;jphpfis 
nghUj;Jf. 

  gFjp - m   gFjp - M 

(a) Njrpa Kd;dzp   1. Njt fTlh 
(b) If;fpa Kd;dzp   2. tp.gp. rpq; 
(c) Njrpa [dehaff; $l;lzp 3. Dr. kd;Nkhfd; rpq; 
(d) If;fpa Kw;Nghf;F $l;lzp 4. A.B. th[;ghap 

(a) (b) (c) (d) 

 (A) 2 4 1 3 

 (B) 2 1 4 3 

  (C) 3 1 4 2 
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 (D) 1 3 2 4 

 Ans - (B) 2 1 4 3 

26. Either House of the Parliament is authorized to declare the seat of a member vacant, who remains absent 

without permission from all the meetings of that House for a period of 

 (A) Sixty days    (B) Ninety days 

 (C) One hundred and twenty days (D) Six weeks 

 Ans - (A) Sixty days  

-------------- ehl;fs;/fhyk;> xU cWg;gpdh; mDkjp ,d;wp fye;J nfhs;shky; ,Ue;jhy; me;j 
,lj;ij fhypaplk; vd;W ,uz;L mitfSk; mwptpf;fyhk;. 

 (A) mWgJ ehl;fs;    (B) njhd;D}W ehl;fs; 

 (C) E}w;W ,UgJ ehl;fs;   (D) MW thuq;fs; 

 Ans - (A) mWgJ ehl;fs;  

27. Planning Commission was set up in the year 

 (A) 1950  (B) 1947  (C) 1955  (D) 1958 

 Ans - (A) 1950 

 jpl;lf;FO epWtpa Mz;L 

 (A) 1950  (B) 1947  (C) 1955  (D) 1958 

 Ans - (A) 1950 

28. Which Bank was called Imperial Bank? 

 (A) State Bank of India    (B) Reserve Bank of India 

 (C) Bank of India    (D) Indian Bank 

 Ans - (A) State Bank of India 

 ,k;gPhpay; tq;fp vd;W miof;fg;gl;l tq;fp vJ? 

(A) ghuj ];Nll; tq;fp     (B) hprh;t; ghq;f; Mg; ,e;jpah 

(C)  ghq;f; Mg; ,e;jpah    (D) ,e;jpad; tq;fp 

 Ans - (A) ghuj ];Nll; tq;fp  

29. Second Five Year Plan was formulated based on the ---------- model. 

 (A) Mahalanobis  (B) Rudra  (C) Myrdal  (D) A.K.Sen 

 Ans - (A) Mahalanobis 

 ,uz;lhtJ Ie;jhz;L jpl;lj;ij cUthf;fpath; 

(A) nkfyNdhgp];    (B) Uj;uh 
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(C) kph;lhy;     (D) A.K. nrd; 

 Ans - (A) nkfyNdhgp]; 

30. Point out the incorrect statement about Rajaram Mohan Roy. 

 (A) He was given the title of Raja in 1831 

 (B) He wrote a pamphlet in Bengali against idol worship 

 (C) ‘Go back to Vedas’ was his slogan 

 (D) He died at Bristol in 1833 

 Ans - (C) ‘Go back to Vedas’ was his slogan 

 uh[huhk; Nkhfd; uha; gw;wpa jtwhd thrfj;ij Rl;bf; fhl;lTk; 

(A) 1831-y; mtUf;F uh[h vd;w gl;lk; toq;fg;gl;lJ 

(B) rpiy topghl;bw;F vjpuhf tq;fhs nkhopapy; Jz;lwpf;if vOjpdhh; 
(C) Ntjj;Jf;F jpUk;Gq;fs; vd;gJ mtuJ thrfk; 
(D) 1833-y; gphp];lypy; ,we;jhh;. 

 Ans - (C) Ntjj;Jf;F jpUk;Gq;fs; vd;gJ mtuJ thrfk; 

31. Among the following who was known as the ‘Political Sage’? 

 (A) W.C. Benerjee    (B) Justice Ranade 

 (C) Gopala Krishna Gokhale   (D) Balagangadhar Tilak 

 Ans - (B) Justice Ranade 

 fPNo nfhLf;fg;gl;Ls;sth;fSs; ‘murpay; Kdpth;’ vd;W mwpag;gl;th; ahh;? 

(A) W.C. ghdh;[p    (B) [];b]; uhdNl 

(C) Nfhghy fpU\;z NfhfNy   (D) ghyfq;fhju jpyfh; 

 Ans - (B) [];b]; uhdNl 

32. Who embraced the gallows with the slogan “I wish the downfall of the british Empire”? 

 (A) Bhagat Singh    (B) Lalalajpat Rai 

 (C) Roshanlal     (C) Ramprasad Bismil 

 Ans - (C) Ramprasad Bismil 

“gphpl;b\; murpd; tPo;r;rpiaNa ehd; tpUk;GfpNwd;” vd;w Kof;fj;Jld; J}f;FNkilia jOtpath; 
ahh;? 

(A) gfj;rpq;    (B) yhyhy[;gjp uha; 

(C) Nuh\d;yhy;   (D) uhk;gpurhj; gp];kpy; 

 Ans - (D) uhk;gpurhj; gp];kpy; 
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33. Who among the following freedom fighter participated in the Vedaranyam March of Rajaji and then 

arrested and imprisoned for one year? 

 (A) Dr.Muthulakshmi    (B) Mrs. Rukmini Lakshmipathi 

 (C) Mrs. Sarojini Naidu    (D) Mrs. Annie Beasant 

 Ans - (B) Mrs. Rukmini Lakshmipathi 

fPo;fhz;gth;fspy; uh[h[papd; Ntjhuz;ak; ahj;jpiuapy; fye;J nfhz;L ifJ nra;ag;gl;L 
Xuhz;L fhyk; rpiw jz;lid tpjpf;fg;gl;l ngz; tpLjiyg; Nghuhsp ahh;? 

(A) kUj;Jth;. Kj;Jyl;Rkp    (B) jpUkjp. Uf;kpdp yl;Rkpgjp 

(C) jpUkjp. rNuh[pdp ehAL    (D) jpUkjp. md;dpngrz;l; 

 Ans - (B) jpUkjp. Uf;kpdp yl;Rkpgjp 

34. If A/3 = B/4 = C/5 then A:B:C is 

 (A) 3:4:5  (B) 2:4:6  (C) 1:3:5  (D) 2:4:8 

 Ans - (A) 3:4:5 

A/3 = B/4 = C/5  vdpy; A:B:C -d; kjpg;G 

(A) 3:4:5  (B) 2:4:6  (C) 1:3:5  (D) 2:4:8 

 Ans - (A) 3:4:5 

35. Find the wrong number in the series 

 3,8,15,24,34,48,63 

(A) 8  (B) 63  (C) 34  (D) 3 

Ans - (C) 34 

gpd;tUk; njhlhpy; cs;s jtwhd vz;iz Njh;T nra;f. 

 3,8,15,24,34,48,63 

(A) 8  (B) 63  (C) 34  (D) 3 

Ans - (C) 34  

36. 5 pencils and 4 erasers cost ₹13 whereas 9 pencils and 5 erasers cost ₹19 then the price of 6 pencils and 3 

erasers is 

 (A) ₹ 9   (B) ₹ 12  (C) ₹ 15  (D) ₹ 18 

 Ans - (B) ₹ 12 

Ie;J tiuNfhy; kw;Wk; ehd;F mopg;ghdpd; tpiy ₹ 13 mNj Nghy; xd;gJ tiuNfhy; kw;Wk; 
Ie;J mopg;ghdpd; tpiy ₹ 19 vdpy; MW tiuNfhy; kw;Wk; %d;W mopg;ghdpd; tpiy vd;d? 

 (A) ₹ 9   (B) ₹ 12  (C) ₹ 15  (D) ₹ 18 

 Ans - (B) ₹ 12 
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37. 88% of 370+24% of 210-? = 118 

 (A) 412   (B) 36   (C) 258   (D) 327 

 Ans - (C) 258  

370- d; 88% + 210-d; 24%- ? = 118 

 (A) 412   (B) 36   (C) 258   (D) 327 

 Ans - (C) 258 

38. 5 5/6 – 3  8/9 - ? = 1 

 (A) 11/12  (B) 17/18  (C) 13/16  (D) 9/10 

 Ans - (B) 17/18 

5 5/6 – 3  8/9 - ? = 1 

 (A) 11/12  (B) 17/18  (C) 13/16  (D) 9/10 

 Ans - (B) 17/18 

39. Two numbers are in the ratio 1:2. If 7 is added to both their ratio changes to 3:5 then the greatest number is 

 (A) 17  (B) 12  (C) 28  (D) 36 

 Ans - (C) 28 

,U vz;fspd; tpfpjk; 1:2 ,t;tpU vz;fSld; 7-I $l;bdhy; tpfpjkhdJ 3:5 vd khWfpwJ 
vdpy; ,jd; kpfg;nghpa vz; 

(A) 17  (B) 12  (C) 28  (D) 36 

 Ans - (C) 28 

40. if 2A = 3B = 4C then A:B:C is 

 (A) 1:2:3  (B) 2:3:4  (C) 6:4:3  (D) 4:5:2 

 Ans - (C) 6:4:3 

2A = 3B = 4C vdpy; A:B:C-d; tpfpjk; 

 (A) 1:2:3  (B) 2:3:4  (C) 6:4:3  (D) 4:5:2 

 Ans - (C) 6:4:3 

41. Take the odd man out 

 3, 5, 9, 11, 14, 17, 21 

(A) 21  (B) 17  (C) 14  (D) 30 

Ans - (C) 14  

gpd;tUk; thpirapy; jdpg;gl;l vz;iz Njh;T nra;f. 

3, 5, 9, 11, 14, 17, 21 
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(A) 21  (B) 17  (C) 14  (D) 30 

Ans - (C) 14  

42. A square and an equilateral triangle have equal perimeter. If the diagonal of the square is 12 2 cm, then the 

area of the triangle is 

 (A) 64 3 cm
2
  (B) 60 2 cm

2
  (C) 50 5 cm

2
  (D) 58 3 cm

2
 

 Ans - (A) 64 3 cm
2
 

xU rJuKk;> xU rk gf;f Kf;NfhzKk; xNu Rw;wsT nfhz;lit. rJuj;jpd; %iy tpl;lk; 12 2 
nr.kP vdpy; rkgf;f Kf;Nfhzj;jpd; gug;G 

 (A) 64 3 nr.kP 2  (B) 60 2 nr.kP 2  (C) 50 5 nr.kP 2  (D) 58 3 nr.kP 2 

 Ans - (A) 64 3 nr.kP 2  

43. What is the volume of a cube whose diagonal measure is 4 3 c.m.? 

 (A) 16   (B) 22   (C) 19   (D) 64 

 Ans - (D) 64 

 4 3 nr.kP 2 %iytpl;lk; nfhz;l xU fdr; rJuj;jpd; fd msT 

 (A) 16   (B) 22   (C) 19   (D) 64 

 Ans - (D) 64 

44. What will be the difference between simple and compound interest at 10% per annum and sum of Rs.1,000 

after 4 years 

 (A) Rs.58.95  (B) Rs.64.10  (C) Rs.72.17  (D) Rs.55.40 

 Ans - (B) Rs.64.10  

&. 1>000 f;F Mz;Lf;F 10% tl;b tPjk; 4 tUlq;fs; fopj;J fpilf;Fk; jdp tl;bf;Fk; $l;L 
tl;bf;Fk; cs;s NtWghL 

 (A) &.58.95  (B) &.64.10  (C) &.72.17  (D) &.55.40 

 Ans - (B) &.64.10 

45. The ratio of two numbers is 5:6 and their LCM is 480, then their HCF is 

 (A) 20   (B) 16   (C) 6   (D) 5 

 Ans - (B) 16  

,U vz;fspd; tpfpjk; 5:6 kw;Wk; mtw;wpd; kP.rp.k 480 vdpy; mt;ntz;fspd; kP.ng.t vd;gJ 

(A) 20   (B) 16   (C) 6   (D) 5 

 Ans - (B) 16  

46. The LCM of two numbers is 48. The numbers are in the ratio 2:3. Then the sum of the numbers is 

(A) 28   (B) 32   (C) 40   (D) 64 
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 Ans - (C) 40 

,U vz;fspd; kP.rp.k 48 kw;Wk; mt;ntz;fspd; tpfpjk; 2:3 vdpy; mt;tpU vz;fspd; $Ljy; 

(A) 28   (B) 32   (C) 40   (D) 64 

 Ans - (C) 40 

47. In which year and place, united nations convened a meeting to address ozone depletion? 

 (A) Montreal, 1987    (B) Kyoto, 1987 

 (C) Montreal, 2000    (D) New York, 2012 

 Ans - (A) Montreal, 1987 

ve;j ,lj;jpy; ve;j Mz;by; If;fpa ehLfs; rig XNrhd; ghjpg;G gw;wp tpthjpf;f $l;lk; Vw;ghL 
nra;jpUe;jJ? 

 (A) khd;l;hpay;, 1987    (B) f;Nahl;Nlh, 1987 

 (C) khd;l;hpay;, 2000    (D) epA+ahh;f; 2012 

 Ans – (A) khd;l;hpay;, 1987 

48. A computer program that contains expertise in particular domain is called an 

 (A) Automatic processor  (B) Intelligent planner 

 (C) Expert system   (D) Operational symbolizer 

 Ans – (C) Expert system 

 xU Fwpg;gpl;l Jiwapd; jdpj;jd;ik tha;e;j epuy;fspd; njhFg;G 

 (A) jhNd ,aq;Fk; nrayfk;    (B) Ez;zwpT Vw;ghL 

 (C) ty;Yeh; Kiwik     (D) eilKiw rpd;dq;fs; 

 Ans – (C) ty;Yeh; Kiwik  

49. A communication device that combines transmissions from several I/O devices into one line is a 

 (A) Concentrator   (B) Modifier 

 (C) Multiplexer    (D) Full duplex line 

 Ans – (C) Multiplexer  

 gy;NtW cs;sPl;L/ntspaPl;L rhjdq;fspd; gug;Gfis xUq;fpizj;J xU jlj;jpy; khw;Wk; xU 
jfty; njhlh;G rhjdk; 

 (A) nrwpT nra;jy;    (B) jpUj;jpaikg;gp 

 (C) juTj; jl xd;W Nrh;g;gp   (D) KO ,U jpir jlk; 

 Ans – (C) juTj; jl xd;W Nrh;g;gp 

50. The phenomenon of nuclear fission can be understood on the basis of 
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 (A) Liquid drop model of the nucleus 

 (B) Shell model of the nucleus 

 (C) Independent particle model of the nucleus 

 (D) Meson theory of nuclear forces 

 Ans – (A) Liquid drop model of the nucleus 

 mZf;fU gpstpid ve;j mZf;fU khjphpiaf; nfhz;L Ghpe;J nfhs;syhk; 

 (A) mZf;fU jputj; Jsp khjphp  (B) mZf;fU $L khjphp 

 (C) mZf;fU jdpj;Jfs; khjphp  (D) mZf;fU tpirfspd; Nkrhd; nfhs;if 

 Ans – (A) mZf;fU jputj; Jsp khjphp 

51. The refractive index of glass is least for 

 (A) red colour   (B) yellow colour 

 (C) violet colour  (D) green colour 

 Ans – (A) red colour 

 fPo;f;fz;ltw;Ws; ve;j epwj;jpw;F fz;zhbapd; xsptpyfy; vz; FiwT  

 (A) rptg;G epwk;   (B) kQ;rs; epwk; 

 (C) Cjh epwk;    (D) gr;ir epwk; 

 Ans – (A) rptg;G epwk; 

52. Which one of the following planets have no satellite? 

 (A) Venus  (B) Mars 

 (C) Jupiter  (D) Uranus 

 Ans – (A) Venus 

  fPo;fz;ltw;Ws; Jizf; Nfhs; ,y;yhj fpufk; vJ? 

 (A) tPd];  (B) nrt;tha;  (C) tpahod;  (D) ANud]; 

 Ans – (A) tPd]; 

53. Which one of the following is a thermosetting polymer? 

 (A) Bakelite    (B) Nylon 6,6 

 (C) Polythylene    (D) Terylene 

 Ans – (A) Bakelite 

 fPo;fz;ltw;Ws; vit xd;W ntg;gj;jhy; ,sfh gygb MFk;. 

(A) Ngf;iyl;    (B) ieyhd; 6> 6 

(C) ghyp vj;jpyPd;   (D) nlh;ypd; 
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 Ans – (A) Ngf;iyl; 

54. Tonoplast is a membrane around 

 (A) Cytoplasm    (B) Vacuole 

 (C) Mitochondria   (D) Nucleus 

 Ans – (B) Vacuole 

 NlhNdhg;sh];l; vd;gJ ---------------- #o;e;j rt;thFk;. 

(A) irl;Nlhgpshrk;    (B) Ntf;FNahy; 

(C) ikl;Nlhfhz;l;hpah    (D) cl;fU 

 Ans – (B) Ntf;FNahy; 

55. In plants, the sequence of reactions in respiration process is 

 (A) Kreb’s cycle, oxidation of pyruvic acid, glycolysis, electron transport chain 

 (B) Glycolysis, oxidation of pyruvic acid, electron transport chain, kreb’s cycle 

 (C) Glycolysis, electron transport chain, kreb’s cycle, oxidation of pyruvic acid 

 (D) Glycolysis, oxidation of pyruvic acid, kreb’s cycle, electron transport chain 

 Ans – (D) Glycolysis, oxidation of pyruvic acid, kreb’s cycle, electron transport chain 

 jhtuq;fspy; Rthr epfo;tpd; thpirf; fpukkhdJ 

(A) fpnug; Row;rp> igUtpf; mkpy Mf;]p[Ndw;wk;> fpisf;fhyp]p];> vyf;l;uhd; flj;jy; rq;fpyp 
(B) fpisf;fhyp]p];> igUtpf; mkpy Mf;]p[Ndw;wk;> vyf;l;uhd; flj;jy; rq;fpyp> fpnug; Row;rp 
(C) fpisf;fhyp]p];> vyf;l;uhd; flj;jy; rq;fpyp> fpnug; Row;rp> igUtpf; mkpy Mf;]p[Ndw;wk; 
(D) fpisf;fhyp]p];> igUtpf; mkpy Mf;]p[Ndw;wk;> fpnug; Row;rp> vyf;l;uhd; flj;jy; rq;fpyp 

Ans – (D) fpisf;fhyp]p];> igUtpf; mkpy Mf;]p[Ndw;wk;> fpnug; Row;rp> vyf;l;uhd; flj;jy; 
rq;fpyp 

56. The process of production of white blood cells 

 (A) Erythropoiesis    (B) Leucopoiesis 

 (C) Neutropenia     (D) Thrombocytopenia 

 Ans – (B) Leucopoiesis 

 ,uj;j nts;is mZf;fs; cUthf;fk; 

(A) vhpj;Nuhghap]p];    (B) ypA+f;Nfhghap]p]; 

(C) epAl;Nuhgpdpah    (D) JNuhk;Nghirl;Nlhgpdpah 

 Ans – (B) ypA+f;Nfhghap]p]; 

57. Widal test is used for 

 (A) Malaria  (B) Typhoid  (C) Cholera  (D) Yellow fever 
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 Ans – (B) Typhoid 

 itlhy; Nrhjid> fPo;fz;l xU Nehia fz;lwpa gad;gLfpd;wJ. 

(A) kNyhpah  (B) ilgha;L  (C) fhyuh  (D) kQ;rs; [Puk; 

Ans – (B) ilgha;L  

58. Name the Indian Navy’s Advanced guided missile destroyer ship launched in Mumbai Sep’2016 

 (A) INS Rajput  (B) INS Chennai (C) Vikrant  (D) Mormugao 

 Ans – (D) Mormugao 

,e;jpa flw;gilapy; nrg;’ 2016 y; Kk;igapy; Jtf;fpitf;fg;gl;l VTfizfis mof;Fk; Mw;wy; 
cs;s fg;gypd; ngah; vOjTk;. 

(A) INS uh[;Gj;  (B) INS nrd;id (C) tpf;uhe;j;  (D) ke;kNfhth 

Ans – (D) ke;kNfhth 

59. What is the name of Indian parliament? 

 (A) Riksdag  (B) Congress (C) Sansad (D) Rashtriya Panchayat 

 Ans – (C) Sansad 

 ,e;jpa ghuhSkd;wj;jpd; ngah; vd;d? 

(A) Hpf;];jf;  (B) fhq;fpu];  (C) rd;]hj;  (D) uh\;l;hpa gQ;rhaj; 

Ans – (C) rd;]hj; 

60. The duration of the National Anthem is approximately ----------- seconds. 

 (A) 42  (B) 52  (C) 62  (D) 64 

 Ans – (B) 52 

 Njrpa fPjk; ghLtjw;F vLj;Jf; nfhs;s Ntz;ba Neuk; Rkhh; ---------- tpehbfshFk; 

 (A) 42  (B) 52  (C) 62  (D) 64 

 Ans – (B) 52 

61. The Juvenile Justice Act was passed in the Rajya Sabha on 

 (A) 22
nd

 December 2015   (B) 22
nd

 January 2016 

 (C) 26
th
 November 2015    (D) 5

th
 January 2016 

 Ans – (A) 22
nd

 December 2015 

 ,sk; rpWth; ePjpr;rl;lk; uh[;a rghtpy; epiwNtw;wg;gl;lJ. 

 (A) 22 brk;gh; 2015   (B) 22 [dthp 2016 

 (C) 26
 etk;gh; 2015   (D) 5 [dthp 2016 

 Ans – (A) 22 brk;gh; 2015  



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 17 of 27 

 

62. The GDP growth of India for the financial year 2015-16 is 

 (A) 8.0 %  (B) 7.6%  (C) 7.2%  (D) 7.9% 

 Ans – (B) 7.6% 

 2015-16 k; epjp Mz;bw;fhd ,e;jpahtpd; GDP tsh;r;rp ,J 

 (A) 8.0 %  (B) 7.6%  (C) 7.2%  (D) 7.9% 

 Ans – (B) 7.6% 

63. The first island district of India as on September 2016 is 

 (A) Port Blair, Andaman and Nicobar Islands 

 (B) Majuli, Assam 

 (C) Kavaratti, Lakshadweep and Minicoy Islands 

 (D) Silavassa, Diu and Daman Islands. 

 Ans – (B) Majuli, Assam 

 nrg;lk;gh; 2016 ,d; epytug;gb> ,e;jpahtpd; Kjy; jPT khtl;lk; ,J 

(A) Nghh;l; g;Nsh;> me;jkhd; kw;Wk; epf;Nfhghh; jPTfs; 
(B) k[Pyp> m];]hk; 
(C) ftul;b> yl;rj;tPg; kw;Wk; kpdpf;fha; jPTfs; 
(D) rpy;thrh> lA kw;Wk; lkd; jPTfs; 

Ans – (B) k[Pyp> m];]hk; 

64. The First railway line in India was laid between ------------ and -------------- 

 (A) Dharwar and Kalyan    (B) Thane and Kalyan 

 (C) Dadar and Kalyan     (D) Bombay and Kalyan 

 Ans – (B) Thane and Kalyan 

 ,e;jpahtpy; Kjy; Kjypy; ,uapy; ,Ug;G ghij --------- f;Fk;------------f;Fk; ,ilNa   

      Nghlg;gl;lJ 

(A) jhh;thh; kw;Wk; fy;ahz;    (B) jhNd kw;Wk; fy;ahz; 

(C) jhjh; kw;Wk; fy;ahz;    (D) gk;gha; kw;Wk; fy;ahz; 

 Ans – (B) jhNd kw;Wk; fy;ahz; 

65. --------- % percentage of the country’s total coal is derived from the valley of Damodar and son in Bihar 

 (A) 90%  (B) 97.6%  (C) 97%  (D) 97.5% 

 Ans – (C) 97% 

ehl;bd; nkhj;j epyf;fhp cw;gj;jpapy; ----------- % tpOf;fhL gPfhhpy; cs;s jhNkhjh; kw;Wk; Nrhd; 
gs;sj;jhf;fpypUe;J fpilf;fpwJ. 
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 (A) 90% tpOf;fhL     (B) 97.6% tpOf;fhL   

(C) 97% tpOf;fhL     (D) 97.5% tpOf;fhL 

 Ans – (C) 97% tpOf;fhL 

66. The India’s highest annual rainfall is reported at 

 (A) Namchi, Sikkim   (B) Churu – Rajasthan 

 (C) Mawsynram – Meghalaya  (D) Chamba – Himachal Pradesh 

 Ans – (C) Mawsynram – Meghalaya  

 ,e;jpahtpy; mjpf kio nghopT gjpthd ,lk; 

(A) ek;rp – rpf;fpk;    (B) RU - ,uh[];jhd; 

(C) nkd;rpd;uhk; - Nkfhyah   (D) rk;gh - `pkhrygpuNjrk; 

 Ans – (C) nkd;rpd;uhk; - Nkfhyah  

67. Match List I with List II correctly and select answer: 

  List I    List II 

(a) Karikalan    1. Ceylon ruler 
(b) Chenguttuvan   2. Pandya ruler 
(c) Nedunchezhiyan I   3. Chola ruler 
(d) Kayavahu    4. Chera ruler 

 (a) (b) (c) (d) 

(A)  3 4 2 1 

(B) 4 1 2 3 

(C) 3 1 2 4 

(D) 3 4 1 2 

Ans – (A)  3 4 2 1 

 gl;bay; I I gl;bay; II cld; nghUj;jp rhpahd tpilia Njh;e;njL 

  gl;bay;  I    gl;bay; II 

(a) fhpfhyd;    1. rpNyhd; Ml;rpahsh; 
(b) nrq;Fl;Ltd;   2. ghz;ba Ml;rpahsh; 
(c) neLQ;nropad; I    3. Nrho Ml;rpahsh; 
(d) fathF    4. Nru Ml;rpahsh; 

(a) (b) (c) (d) 

 (A) 3 4 2 1 

 (B) 4 1 2 3 

 (C) 3 1 2 4 
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 (D) 3 4 1 2 

Ans – (A)  3 4 2 1 

68. The battle of Talaikota took place on 

 (A) 27
th
 October 1565    (B) 12

th
 December 1565  

 (C) 23
rd
 January 1565    (D) 13

th
 June 1565 

 Ans – (C) 23
rd

 January 1565 

 jiyf; Nfhl;ilg; Nghh; ---------- y; eilngw;wJ. 

(A) 27 mf;Nlhgh; 1565    (B) 12 brk;gh; 1565 

(C) 23 [dthp 1565    (D) 13 [Pd; 1565 

 Ans – (C) 23 [dthp 1565 

69. The Newspaper published by the Arya Samaj was 

 (A) Arya Samaj     (B) Arya Prakash 

 (C) New India     (D) Satyartha Prakash 

 Ans – (B) Arya Prakash 

 Mhpa rkh[j;jpdh; ntspapl;l nra;jp gj;jphpif 

(A) Mhpa rkh[k;    (B) Mhpa gpufh\; 

(C) epA+ ,e;jpah    (D) rj;jpahh;j gpufh\; 

 Ans – (B) Mhpa gpufh\; 

70. Kathakali is a famous dance in the state of  

 (A) Tamil Nadu     (B) Karnataka 

 (B) Andhra Pradesh    (D) Kerala 

 Ans – (D) Kerala 

 fjf;fsp eldk; ,e;j khepyj;jpy; rpwg;G ngw;wJ. 

 (A) jkpo;ehL     (B) fh;ehlfh 

 (C) Me;jpu gpuNjrk;    (D) Nfush 

 Ans – (D) Nfush 

71. The second Jain council was held at  

 (A) Pataliputra  (B) Rajagriha  (C) Valabhi  (D) Vaishali 

 Ans – (C) Valabhi 

 ,uz;lhtJ rkz rkaf; $l;lk; eilngw;w ,lk; 

(A) ghlypGj;jpuh; (B) uh[fphpfh  (C) ty;ygp  (D) itrhyp 
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Ans – (C) ty;ygp 

72. The Vice-President, who resigned from his office, for assuming the President office was 

 (A) V.V.Giri     (B) Fakruddin Ali Ahmed 

 (C) Neelam Sanjiva Reddy   (D) S.Radhkrishnan 

 Ans – (A) V.V.Giri  

FbauR jiyth; mYtyfj;ij Vw;Wf; nfhs;tjw;fhf jk;Kila Jizf; FbauR jiyth; 
gjtpia ,uh[pdhkh nrajth; 

(A) tp.tp.fphp     (B) gf;&jpd; my mfkJ 

(C) ePyk rQ;rPt nul;b    (D) v];.,uhjhfpU\zd; 

 Ans – (A) tp.tp.fphp 

73. Which one of the following communities was granted minority status across India in January 2014? 

 (A) Parsis  (B) Jains  (C) Buddhists  (D) Transgenders 

 Ans – (B) Jains 

gpd;tUtdtw;Ws; [dthp 2014 md;W ,e;jpah KOikf;Fkhf rpWghd;ikapdh; me;j];J 
toq;fg;gl;l r%fk; vJ? 

(A) ghh;rpf;fs;     (B) i[dh;fs;   

(C) Gj;jk kjj;jpdh;    (D) %d;whk; ghypdj;jth; 

 Ans – (B) i[dh;fs;  

74. How many national parties contested in the 16
th
 General Elections? 

 (A) 5  (B) 6  (C) 7  (D) 4 

 Ans – (B) 6 

 16-tJ nghJj; Njh;jypy; vj;jid Njrpa fl;rpfs; Nghl;bapl;ld? 

 (A) 5  (B) 6  (C) 7  (D) 4 

 Ans – (B) 6 

75. Which is the constitutional authority that has been responsible for constituting the Finance Commission 

periodically? 

 (A) Public Accounts Committee   (B) Parliament of India 

 (C) President of India    (D) Comptroller and Auditor General of India 

 Ans – (C) President of India 

Fwpg;gpl;l fhy ,ilntspapy; epjp Mizaj;ij mikg;gjw;F mjpfhuk; ngw;w murpayikg;G 
mjpfhuikg;G vJ? 

(A) nghJ fzf;F FO   (B) ,e;jpa ghuhSkd;wk; 
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(C) ,e;jpa FbauR jiyth;   (D) ,e;jpa jiyik fzf;F jzpf;ifahsh; 

 Ans – (C) ,e;jpa FbauR jiyth; 

76. In which year the Election Commission issued the ‘election symbols order’ under which political parties 

had to register themselves with the commission? 

 (A) 1952  (B) 1968  (C) 1971  (D) 1989 

 Ans – (B) 1968 

murpay; fl;rpfs; jq;fspd; fl;rp rpd;dk; njhlh;ghf Njh;jy; Mizaj;jplk; gjpT nra;J nfhs;s 
Ntz;Lk; vd;gJ njhlh;ghd> “Njh;jy; rpd;d cj;jutpid” ve;j Mz;L Njh;jy; Mizak; 
gpwg;gpj;jJ? 

 (A) 1952  (B) 1968  (C) 1971  (D) 1989 

 Ans – (B) 1968 

77. The new agricultural technology was tried as a pilot project and was called as 

 (A) Integrated Rural Development Programme [IRDP] 

 (B) Integrated District Development Programme [IDDP] 

 (C) Intensive Agricultural Development Programme [IADP] 

 (D) Intensive Agricultural District Programme [IADP] 

 Ans – (D) Intensive Agricultural District Programme [IADP] 

Gjpa tptrha njhopy; El;gj;ij xU Kd;Ndhb jpl;lkhf eilKiwgLj;jpdh; kw;Wk; mtw;wpid 
vt;thW miog;gh;? 

(A) xUq;fpize;j fpuhkg;Gw tsh;r;rp jpl;lk; 
(B) xUq;fpize;j khtl;l tsh;r;rp jpl;lk; 
(C) Mo;e;j tptrha tsh;r;rp jpl;lk; 
(D) Mo;e;j tptrha khtl;l jpl;lk; 

Ans – (D) Mo;e;j tptrha khtl;l jpl;lk; 

78. Which plan had set the correct goal in the form of moving “Towards faster and more inclusive growth? 

 (A) 10
th
 Plan  (B) 9

th
 Plan  (C) 11

th
 Plan  (D) 12

th
 Plan 

 Ans – (C) 11
th
 Plan 

ve;j jpl;lj;jpy; njhlh;e;J Kd;NdWtjw;fhd rhpahd Nehf;fj;ij eph;zapj;jd “tpiuthd 
tsh;r;rpia Nehf;fp kw;Wk; mjpa cs;slf;fpa tsh;;r;rp” 

(A) 10-tJ jpl;lk;    (B) 9-tJ jpl;lk;  

(C) 11-tJ jpl;lk;    (D) 12-tJ jpl;lk; 

 Ans – (C) 11-tJ jpl;lk; 

79. The Union Government is planning to launch Rastriya Aviskar Abhiyan to create awareness among the 

students in 
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 (A) Classic music    (B) Ancient history 

 (C) Science and arts    (D) Science and mathematics 

 Ans –  (D) Science and mathematics 

kj;jpa murpd; ‘uh\pl;hPa Mtp\;fhh; mgpahd;’ khzth;fSf;F ve;j tif tpopg;Gepiyia 
cUthf;f ,yf;fpl;Ls;s jpl;lkhFk;? 

 (A) Gfo; rhd;w ,ir    (B) njhd;ik tuyhW 

 (C) mwptpay; kw;Wk; fiy   (D) mwptpay; kw;Wk; fzpjk; 

 Ans – (D) mwptpay; kw;Wk; fzpjk; 

80. Which district has the highest per capita income in Tamil Nadu in 2010-11? 

 (A) Coimbatore  (B) Chennai  (C) Tajavur  (D) Kannyakumari 

 Ans – (D) Kannyakumari 

 jkpo;ehl;by; ve;j khtl;lk; 2010-11-y; mjpf jyh tUthAila khtl;lkhFk;? 

(A) Nfhak;Gj;J}h; (B) nrd;id  (C) jQ;rhT+h;  (D) fd;dpahFkhhp 

Ans – (D) fd;dpahFkhhp 

81. What is the ranking of nuclear power among the various sources of electricity in India in 2013-14? 

 (A) Third  (B) Fourth  (C) Fifth  (D) Sixth 

 Ans – (B) Fourth 

,e;jpahtpy; 2013-14 Mk; Mz;by; mZ Mw;wy; gy;NtW kpd;rhu Mjhuq;fspy; ngw;w juk; thpir 
vd;d? 

(A) %d;W  (B) ehd;F  (C) Ie;J  (D) MW 

Ans – (B) ehd;F 

82. Write the given incidents in chronological order using the codes given belo: 

 (i) Gandhi Irwin Pact. 

 (ii) Bhagat Singh, Sukhdev and Rajaguru executed 

 (iii) Gandhi Irwin Pact endorsed in the congress. 

 (iv) Second round table conference. 

 (A) (i), (iii), (ii), (iv)    (B) (i), (ii), (iii), (iv) 

 (C) (iii), (ii), (iv), (i)    (D) (i), (iii), (iv), (ii) 

 Ans – (B) (i), (ii), (iii), (iv) 

 gpd;tUk; epfo;Tfis nfhLf;fg;gl;Ls;s FwpaPLfisg; gad;gLj;jp fhythpirg;gLj;J. 

(i) fhe;jp ,h;tpd; xg;ge;jk;. 
(ii) gfj;rpq;> Rf;Njt;> uh[FU J}f;fpyplg;gly; 
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(iii) fhe;jp ,h;tpd; xg;ge;jj;jpw;F fhq;fpurpy; xg;gk;. 
(iv) ,uz;lhtJ tl;lNkir khehL. 

(A) (i), (iii), (ii), (iv)    (B) (i), (ii), (iii), (iv) 

 (C) (iii), (ii), (iv), (i)    (D) (i), (iii), (iv), (ii) 

 Ans – (B) (i), (ii), (iii), (iv) 

83. After his return from Surat, V.O.C. decided to celebrate whose liberation in a grand manner? 

 (A) Balagangadhar Tilak   (B) Bipin Chandra pal 

 (C) Lalaljpat Rai    (D) Subramania Bharathi 

 Ans – (B) Bipin Chandra pal 

#uj; khehl;bypUe;J jpUk;gpa gpd; t.c.rp ahUila tpLjiyia gpuk;khz;lkhff; nfhz;lhl 
jPh;khdpj;jpUe;jhh;? 

(A) ghyfq;fhju jpyfh;   (B) gpgpd; re;jpughy; 

(C) yhyhy[;gj; uha;    (D) Rg;ukzpa ghujp 

 Ans – (B) gpgpd; re;jpughy 

84. The sum of the two number is 33 and their difference is 15, the smaller number is  

 (A) 7  (B) 11  (C) 9  (D) 3 

 Ans – (C) 9 

 ,U vz;fspd; $l;Lj;njhif 33> mtw;wpd; NtWghL 15 vdpy; mjd; rpwpa vz; vJ? 

 (A) 7  (B) 11  (C) 9  (D) 3 

 Ans – (C) 9 

85. Pipe A can fill a tank in 45 hrs and pipe B can fill it in 30 hrs. Both the pipes are opened when the tank is 

empty. How soon will the tank be full? 

 (A) 12 hrs  (B) 14 hrs  (C) 16 hrs  (D) 18 hrs 

 Ans – (D) 18 hrs 

A vd;w FohahdJ njhl;bia 45 kzp Neuj;jpYk; B vd;w FohahdJ njhl;bia 30 kzp 
Neuj;jpYk; epiwT nra;fpwJ. ,U Foha;fisAk; jpwf;Fk; NghJ njhl;b fhypahf cs;sJ vdpy; 
mj;njhl;bia epug;Gtjw;F vt;tsT kzp Neuk; MFk. 

 (A) 12 kzpNeuk; (B) 14 kzpNeuk; (C) 16 kzpNeuk; (D) 18 kzpNeuk; 

 Ans – (D) 18 kzpNeuk; 

86. Find the odd man out. 

 10, 25, 45, 54, 60, 75, 80 

(A) 54  (B) 25  (C) 80  (D) 10 

Ans – (A) 54  
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gpd;tUk; njhlhpy; nghUe;jhjij Njh;T nra;f.  

 10, 25, 45, 54, 60, 75, 80 

(A) 54  (B) 25  (C) 80  (D) 10 

Ans – (A) 54  

87. If 63 + 25 = 16, 12 + 18 = 12 and 23 + 17 = 13 then 54 + 22 = ? 

 (A) 13   (B) 17  (C) 19  (D) 20 

 Ans –  (A) 13 

 63 + 25 = 16, 12 + 18 = 12 kw;Wk; 23 + 17 = 13 vdpy; 54 + 22 = ? 

 (A) 13   (B) 17  (C) 19  (D) 20 

 Ans –  (A) 13 

88. 20 women can finish a piece of work in 16 days and 16 men can finish it in 15 days. What is the ratio of the 

working capacities of a man and a woman? 

 (A) 3:4  (B) 4:3  (C) 5:3  (D) 2:1 

 Ans – (B) 4:3  

xU Ntiyia 20 ngz;fs; 16 ehl;fspYk; 16 Mz;fs; 15 ehl;fspYk; Kbf;fpwhh;fs; Mz; kw;Wk; 
ngz;zpd; Ntiyj;jpwd; tpfpjkhdJ. 

 (A) 3:4  (B) 4:3  (C) 5:3  (D) 2:1 

 Ans – (B) 4:3  

89. if 10% of A is equal 12% of B then 15% of A is equal to ------------- percent of B. 

 (A) 20 %  (B) 18%  (C) 15%  (D) 8% 

 Ans – (B) 18%  

A-d; 10% vd;gJ B-d; 12% rkkhdJ vdpy; A-d; 15% MdJ -d; ------------- rjtPjj;jpw;F rkkhFk;. 

 (A) 20 %  (B) 18%  (C) 15%  (D) 8% 

 Ans – (B) 18%   

90. 7500 + (1250 / 50) = ? 

 (A) 180   (B) 7525  (C) 5720  (D) 3200 

 Ans – (B) 7525  

7500 + (1250 / 50) = ? 

 (A) 180   (B) 7525  (C) 5720  (D) 3200 

 Ans – (B) 7525  

91. If WORDSWORTH is written by VPQERXNSSI, then DAFFODILS would be written as 
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 (A) CBEGNEJMR    (B) CBEGNEHMR 

 (C) CBEGNEMOR    (D) CBEEGNHMR 

 Ans – (B) CBEGNEHMR 

WORDSWORTH vd;gij VPQERXNSSI, vd vOjpdhy; DAFFODILS I vt;thW vOjyhk;? 

 (A) CBEGNEJMR    (B) CBEGNEHMR 

 (C) CBEGNEMOR    (D) CBEEGNHMR 

 Ans – (B) CBEGNEHMR 

92. The next two letters in the letter sequence below are 

 M L N K O J  - - 

(A) R, H  (B) Q, S  (C) I, T   (D) P, I 

Ans – (D) P, I 

 NfhLf;fgl;Ls;s vOj;J thpirapy; mLj;j ,uz;L vOj;Jf;fs; ahit? 

 M L N K O J  - - 

(A) R, H  (B) Q, S  (C) I, T   (D) P, I 

Ans – (D) P, I 

93. The height of an equilateral triangle is 10 cm. Its area is 

 (A) 100 / 3 cm
2
  (B) 30 cm

2
  (C) 100 cm

2
  (D) 100 / 3 cm

2 

 Ans – (D) 100 / 3 cm
2
 

 rkgf;f Kf;Nfhzj;jpd; cauk; 10 nr.kP vdpy; mjd; gug;gsT 

 (A) 100 / 3 nr.kP2 (B) 30 nr.kP 2  (C) 100 nr.kP 2  (D) 100 / 3 nr.kP 2 

 Ans – (D) 100 / 3 nr.kP 2 

94. At which rate of simple interest, will the amount be twice in 20 years? 

 (A) 4%  (B) 5%  (C) 6.66%  (D) 3.33% 

 Ans – (B) 5%  

,UgJ tUlq;fspy; ehk; nrYj;Jk; njhif ,U klq;fhdhy; jdp tl;b tpfpjk; vd;dthf 
,Uf;Fk;? 

 (A) 4%  (B) 5%  (C) 6.66%  (D) 3.33% 

 Ans – (B) 5%  

95. A sum of Rs.1,600 gives a simple interest of Rs.252 in 2 years and 4 months. The rate of interest per annum 

is 

 (A) 10 ¾ %  (B) 12 ½%  (C) 6 ¾%   (D) 7 ¼% 
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 Ans – (C) 6 ¾% 

& 1>600 f;F 2 tUlq;fs; 4 khjq;fspy; fpilf;Fk; jdptl;b &. 252 vdpy; Mz;L tl;b tPjk;  

A) 10 ¾ %  (B) 12 ½%  (C) 6 ¾%   (D) 7 ¼% 

 Ans – (C) 6 ¾% 

96. ---------- is an online diary used to share one’s views and is also used as a strong marketing tool 

 (A) Banner  (B) Blogs  (C) Cyber space  (D) E-commerce 

 Ans – (B) Blogs 

xUthpd; fUj;Jf;fisg; gfph;e;J nfhs;sTk; kw;Wk; th;j;jf tpsk;gu fUtpahfTk; gad;gLk; 
,iza Fwpg;NgL --------- MFk; 

(A) tpsk;gug; gyif    (B) tiyg;gjpT   

(C) ,iza ntsp    (D) kpd; tzpfk; 

 Ans – (B) tiyg;gjpT   

97. What is the name given to the act of gaining illegal entry to computer files through remote terminals or 

micro-computers? 

 (A) Hacking     (B) De coding 

 (C) Seecurity Breach    (D) Beating the system 

 Ans – (A) Hacking  

 Nra;ik fzpzp Kidkk; my;yJ Ez; fzpdp %yk; jtwhd EioT topapy; fzpdpapd; 
Nfhg;Gfis ghh;j;jYf;fhd ngah; vd;d? 

(A) khw;wpaikj;jy;    (B) Fwptpyf;fk; 

(C) ghJfhg;ig cilj;jy;   (D) Kiwikia Njhw;fbj;jy; 

 Ans – (A)  khw;wpaikj;jy;   

98. Chipko movement was launched for the protection of 

 (A) Wet lands  (B) Grasslands  (C) Forests  (D) Livestocks 

 Ans – (C) Forests  

 rpg;Nfh ,af;fk; ,tw;iw ghJfhg;gjw;fhf njhlq;fg;gl;lJ. 

(A) rJg;G epyq;fs;    (B) Gy;ntspfs; 

(C) fhLfs;     (D) fhy;eil 

 Ans – (C) fhLfs;   

99. The National commission on floods was set up by the Government of India in the year 

 (A) 1956  (B) 1966  (C) 1976  (D) 1986 

 Ans – (C) 1976  
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 ,e;jpa murpdhy; Njrpa nts;sf; FO mikf;fg;gl;l Mz;L 

 (A) 1956  (B) 1966  (C) 1976  (D) 1986 

 Ans – (C) 1976  

100. Among the following, which century was the warmest century of the Millennium? 

 (A) 20
th
 century  (B) 21

st
 century  (C) 18

th
 century  (D) 15

th
 century 

 Ans – (A) 20
th
 century  

fPo;f;fz;ltw;Ws; ve;j E}w;whz;L kpf ntg;gkhd E}w;whz;lhf> fle;j Mapuk; Mz;Lfspy; 
mwpag;gLfpwJ? 

 (A) 20 Mk; E}w;whz;L    (B) 21 Mk; E}w;whz;L  

(C) 18 Mk; E}w;whz;L    (D) 15 Mk; E}w;whz;L 

 Ans – (A) 20 Mk; E}w;whz;L 


